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ax1.scatter(np.arange(Nmax), np.array(Outcome_hist))
ax2.plot(np.arange(Nmax), np.array(Frequency_hist), 'r', lw=2, label="Relative Frequency")
ax2.plot(np.arange(Nmax), Probability*np.ones(Nmax), 'b-', lw=2, label="Probability of Event A")

# set up the subplots as needed
ax1.set_xlim(( 0, 100))            
ax1.set_ylim((0.9, 6.1))
ax1.set_xlabel('Number of Trials')
ax1.set_ylabel('Outcome')

ax2.set_xlim(( 0, 100))            
ax2.set_ylim((-0.1,1.1))
ax2.set_xlabel('Number of Trials')
ax2.set_ylabel('Relative Frequency')

Nmax = 100

ax2.legend(fontsize=20)

import matplotlib.pyplot as plt
import seaborn as sns

np.random.seed(123)
# create a figure and axes
fig = plt.figure(figsize=(12,5))
ax1 = plt.subplot(1,2,1)   
ax2 = plt.subplot(1,2,2)

import numpy as np

Outcome_hist = [np.random.randint(1, 7) for i in range(Nmax)]  

Probability = 1/3

Frequency_hist = [sum(1 for num in Outcome_hist[0:n] if num == 1 or num == 2)/(n+1) for n in range(Nmax)]

plt.show()

output

Walter_rudin
https://colab.research.google.com/drive/1thMuXA4EoAoiVC-v_h6HldO2OGc2Born?usp=sharing



1/9/24, 3:16 PM Simulate_Prob_Event_A.ipynb - Colaboratory

https://colab.research.google.com/drive/1thMuXA4EoAoiVC-v_h6HldO2OGc2Born#scrollTo=uOLmRSzFzH5u&printMode=true 2/2


